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Code : 031404 |
nductors made of aluminium
conductors  made  of
made of
ded ‘conductors usually have a

t:entral ‘wire -around whi&h there are
successive Iayers of 6, 12, 18 24 mrcs

s 2:7.:14
stric power can be transmited
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“‘,"3* Uﬁble

(0‘ lags behind the voltage b){ 00"
\4)’ teads the voltage by 90°
.=+ (i) leads the voltage by 180°
A‘?" ‘ {iv) None of the above

.*'f h(i) Transmission line constants are
T
_‘ %‘;& {) resistance
; . (i) inductance
L_, fi#)” All of the above
R
v g . {a) Derive the Kelvin's law for most
: “ economical size of conductor. 6
o L akubihar.com
£ PR _;5'3}5 cost per km for each of the copper

eotfduét;;r of a 'ggctxon a sq. cm for a

transn - line is f2800a+1,300)
q’:load factor ot'the load current l.sv

law. Gwenp 1- 78x10‘°§2 m

14AK—1100/658  akubihar.com  continyed;
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0/ The following data refers to a 50 Hz, 1| -
transmission line -
Length =20 km
Load delivered at recemnang end - 50 o
at ”8 ]'f 'l;".ll_.'
Resistance of each conductor
=0 02 Kk
Inductance of conductor =0 - 65 mH/ kin
The voltage at the receiving end is required to
be kept at 10 kV.
Find—
fa) sending end voltage and
regulation of the line;
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‘fb} the value of capacitors ta he placed 1

) parallel with the load such tho
regulation 1s reduced to S0%. of hot
‘obtained in {a) -

Compare the transmission efficiencies in

voltage -

hl%l(-—l 100/658 akublhar.com { Turn Quer
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gio -core lead covered cable is to be
. desighied for 66 KV to earth. Its conductor
e radiua is 06 e¢m and its three insulating
c ‘m&terllls A, B and C have relative

: 4 25 and 4 With maximuin

ﬂft‘siﬂf

Determme the minimum
¢ ‘-intemal_diameter of lead sheath. Discuss the
L?— ' "‘? rrarigement of insulating materials. 14
.

conducto:; nsed is. ;:i. ;
havmg welght of 11 18 kg

"ti'm&tc tensﬂe stress of

[ nwable tensmn is not to
' : I-‘tnd—-

.....

- Aot V — : - "‘ . . R -
(a) sag in stll air, ..

| {b) sag with wind pressure of 60 kg/m?;
B } ith the wind pressure in part b and
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ing (7))

nitie the - inductance ~of the double
line shown in figure below. The self .
-~GMD of the conductor is 0-0069 meter Lo 14
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